course5.notebook June 30, 2014

AR) = %i"’

()(7 453 (12 4 2D

{ ()= x°-Y4 x L1

(of - f(u)) - ((u) (,( (5“’)1T\"()-<2—ﬁ)‘fr

=(3 <hx P~ (-

fel==x kI T NUT=R fono S .
) Sogoh £ (=Ra% 19 G0 W07
f(he)
Ha W)= |
Ve s W(360)- (5 ))“(x; 'y
hg0n)) —
'[‘:‘l("*@)( )’4(63‘_\> 'F( 1 (X " ) pzd)

el 3-12:57 & Jpualo 3-01:12 4

— &23
};nlr;m—. Live : Eycrymlf;a Z'\—C'ti‘:-ﬁm’l
71—9 7}" "\M« rﬁufvw-t

1Tyt get F frtrnghn

P wlll Lake o Mty VX€Z.X7’1§’“""’\T~--.

oeo=lo 3-01:22 - el 3-01:30 »



course5.notebook

June 30, 2014

Cgvvinoe /
F—1
T—r [envenae )
Y xe Z xMMTw N
21

E\(\- \mt: X
RS Py

f
7I°(Tnmc)
Vx. P
VX7F(I,,M)
a =5z 7uvb

o=l 3-01:33 -

eoalo 3-01:36 -

Vxez J(5on —xap=-)
a—=biaV/b

7(""’5)5 Ta\Nb

VX€Z X\(’lov\cl xi'nf"".’* -

Vx F—=9
V¥ x. 79 = 7p( combrrppntiv)

¥x¢ Z xnmel Pt —
XL

o=l 3-01:39

Jeoalo 3-01:42

r

7r (IMW/ﬂcéﬂlﬁh)
Vx . P
Vx: 7P (Inwes )
Z(Vxlf)) (Ncaq\\\ S 7l°
7(3X:P);\{X'-7r- )
%7, T 1—s Yot -

(P20 v(q=r)
—_— b
qur'ﬂf—afﬁva
FIF(T [T (T
ey
1]'”- T 1 \

Jpualo 3-01:44 »

JﬁU‘""O 3-01:51 e




course5.notebook

June 30, 2014

(Pvag)— (4 A 0)
4‘2; % :mm_,:_wm

T =

.
-
s

1™ = 3
pea il SR

£
IT
T

£
T
! )

At'zJJ'VSI('S; $‘(7)(f3

AXB2(dr), (0se), (IAT-
Find A powey <y of B

B2 2814x3,63, 113, e e
&cﬁ%,%ei}}. "

Jeo=lo 3-01:56 &

eoalo 3-02:04 -

(A

ﬂfi”‘)é)l’\,m)"féx
é;iﬂ,c)d,?)m,§§
f/?B(:.E% m, h\S

o

Jeo=lo 3-02:09 -

Jeoalo 3-02:13



	???? 1
	???? 2
	???? 3

